big-O Proof
CS24, Dr. Ostheimer

The following proof that 2% + 1722 is O(2?) is out of order. Also, the following words
have been deleted and replaced by oops: let, suppose, therefore, then. Reorder the sentences
and fix the oops’s to make a correct proof. Write the correct proof in your blue book.

00ps 2+ 1722 < 23 + 23 = 223,

oops x3 + 1722 is O(x3).

oops k = 1T7.

We have shown that if = > k, then 2 + 1722 < Cz3.
oops x > 17.

00ps 1722 < za? = 23,

We must show that if x > k, then 3+ 1722 < Cz?

oops C' = 2.



